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PART - A (5 marks) Answer ALL questions as T or F, each question carries 1 mark.

[T1 [F]
[T1 [F1]
[T1 [F]
[T1 [F1]
[T1 [F1]
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PART - B (20 marks) Single-choice questions, each question carries 1 mark.

[Al [B]1 [C] [D]
[Al [B]1 [C] [D1]

LAl [B]1 [C] [D] 11. [A1 [B] [C] [D1] 16. [A]l [B] [C] [D1]
LAl [B]1 [C] [D] 12. [A]1 [B] [C] [D] 17. [A]1 [B] [C] [D]
[Al [B]1 [C] [D] LAl [B]1 [C] [D] 13. [A]1 [B] [C] [D] 18. [A]l [B] [C] [D]
[A]l [B]1 [C] [D] [AT [B]1 [C] [D] 14. [A] [B]1 [C] [D] 19. [A] [B] [C] [D]
[AT [B]1 [C] [D] 10. [A] [B]1 [C] [D] 15. [A] [B]1 [C] [D] 20. [AT [B] [C] [D]
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PART - C (10 marks) Write down the right data structure behind every application,
each question carries 1 mark.

1. [A] [B] [C]1 [D]1 6. [Al [B] [C] [DI

[Al [B]1 [C] [DI 7. [A]l [B1 [C] [D]

[Al [B]1 [C] [DI 8. [A] [B] [C] [D]

[Al [B]1 [C] [DI 9. [A]l [B] [C] [D]

[Al [B] [C] [D] 10. [A] [B] [C] [D]
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PART - D (15 marks) Short answer questions.

1. (5%)

2. (59)

3. (5%)
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PART - E(50 marks)Application questions.

1. (10%)
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2. (10%)
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3.(1) (5%)

3.(2) (52)

3.(3) (59)
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4.(1) (59)

4.(2) (59)

4.(3) (59)
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